Name__________________________	  Intro to Latin                                         Tuesday’s Homework
Date_____________Period______ 
(1) Animālia agricolae vīllam circumdedērunt. (2) Ā flūmine ad fīnem terrae ambulābant. (3) Agricola animālia per noctem prope partem tūtam urbis servāvit. (4) Prope urbem, nauta et uxor parvā in vīllā habitant. (5) Nauta trāns ______ in nāve nāvigat. (6) Navem nōmine “Virtūtem” appellat. (7) Nauta et uxor īnfantem parvum habent. (8) Sunt parentēs bonī, et īnfāns erit nauta ubi est vir.
Answer.
 1. Who is the subject in (1)?
a. agricolae
b. animālia
c. villam
d. circumdērunt
2. What tense is the verb in (1)?
a. present
b. imperfect
c. future
d. perfect
3. What genitive construction is “terrae” in (2)?
a. possession
b. origin
c. material
d. partitive
4. What tense is the verb in (2)?
a. present
b. imperfect
c. future
d. perfect
5. Who is the subject of (2)?
a. flūmine
b. finem
c. terrae
d. animālia
6. Who is the subject of (3)?
a. animālia
b. agricola
c. urbis
d. noctem
7. What tense is the verb of (3)?
a. present
b. imperfect
c. future
d. perfect


8. What ablative construction is “in villā parvā” in (4)?
a. means
b. place where 
c. manner
d. accompaniment
9. What tense is the verb in (4)?
a. present
b. imperfect
c. future
d. perfect
10. What word would fit best in the blank in (5)?
a. mare
b. marī
c. marium
[bookmark: _GoBack]d. maribus
11. What ablative construction is “nōmine” in (6)?
a. means
b. manner
c. accompaniment
d. place where
12. What tense is “habent” in (7)?
a. present
b. imperfect
c. future
d. perfect
13. Who is the subject of the verb in (7)?
a. nauta
b. infantem
c. uxor
d. a and c
14. What are “parentēs bonī” in (8)?
a. subject
b. D.O.
c. predicate nominative
d. I.O
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